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BEANRE ARG B R ) A (- 12m)EA T E

4 [ I - KA BT #H =2 B * H =
EHEISE 160, 181, 970
=B (-12m) 160, 181, 970
A - EIEBT 153, 257, 587
EAT 134,113,127
EAH 20,043, 588
1 ZAMTBEAN) #MAL~100kg/EIEE [EL 262.00 8,169 2,140, 278
m3
2 EAMEBAQ) #AL~100kg/EFEE KFIOmKH 2,182.00 8, 205 17,903, 310
m3
EOR(® 7] 72,983, 238
3 JERIKAEH (1) #A5~100kg/EREE [EL 206. 00 8,169 1,682,814
m3
4 JERIRIEH (2) #AL~100kg/EFEE KFIOmKH 8, 256. 00 8,316 68, 656, 896
m3
5 JERIRIEAERK 8,462. 00 312.4 2,643,528
m3
TA4ILE—F 37,813, 941
6 Z4ILE—E(FRE (1) BAHERAS-40 L 13. 00 13,822 179, 686
m3
1T 7405 —E(TRE) (2) BRRAS-40 KFEI0mEE 1, 555. 00 14,133 21,976, 815
m3
8 T4 LA —E (TR EHk 1, 568. 00 202.1 316, 892
m3
9 T4 LA —E(LRE ) BXY5v+v—5RC-30 [EL 17.00 13,203 224, 451
m3
10 Z4L2—E (LB (2) BEY5v Y v—35 URC-30 KFEI0mKH 664. 00 13, 654 9, 066, 256
m3




BEANRE ARG B R ) A (- 12m)EA T E

4 [} R - KT BfI 8 2 B M & £ =

1 718 —E (LB ER 631. 00 202. 1 137, 630
m3

12 24L8—B(EBHL +20cm BEY 5 v ¥ v —3 URC-30 BEL#H 113.00 4,041 456, 633
m2

1B I24L2—BEBHL +20cm BEY 5 v ¥ v —3 URC-30 K #H 72.00 11,238 809, 136
m2

14 74 0L2—E(ERB)HL +20cm BEY 5 v v —F URC-30 KFEI0mFKH 591. 00 7, 862 4, 646, 442
m2

RS — b 3,272, 360

15 b — FQOBER (1) fE Lt 164. 00 3, 640 596, 960
m2

16 BhEb > — OB (2) K 10mR i 735. 00 3, 640 2,675, 400
m2

=BT 19, 144, 460

=15 19, 144, 460

17 BEHEAD HA5~100ke/BIEE ML 2,087.00 8,125 16, 956, 875
m3

18 REBEHIEAQ HA5~100ke/BIEE ML 182. 00 8,125 1,478,750
m3

19 EIBEHE 2,269. 00 312.4 708, 835
m3

BEYRET 6,924, 383

BEYRET 6,924, 383

BEYEEL 3, 750, 629

20 HEYEEL EmBEY #HWET 422.00 8,520 3, 595, 440
m3

21 EEREHEE 451.00 344.1 155, 189
m3




BERRE

HH6EE)INEEEMR)FEG-12mEFATE

4 [} R - KT iE B #H =2 il ® ¥ i
izl 426, 339
22 fRAl 1,239.00 344.1 426, 339
m3
HERL 759, 795
23 BRL 1,417.00 536. 2 759, 795
m3
a9 ) — FERER 822,900
28 Ay ) —HSERK 422.00 1,950 822,900
m3
LI 1,164,720
25 W& BEHEEY 422.00 2,760 1,164,720
m3
HEBEREE FEL) 120, 000
HE R 120, 000
HBEREE 120, 000
BitEEE 120, 000
HifrgE 120, 000
26 B EEE HREDMAE1IS 1.00 120, 000 120, 000




wits SN B (E R R B - 12m AT H

£ g R - KSR Bifr B 2 B i & B W =
EREIEE 160, 181,970
MEIEE 15,523,332 + 42,907, 234 58, 430, 566
HdfREE GH 120,000 + 14,560, 541 + 842, 791 15,523,332
HBRBE (FEL) 120, 000
HBERER (R) 160, 181,970 x 9.09% ((4.41% x1.68 +1.50% x 1.02) 14,560, 541
RISRERER 159,017,250 x 0.53% 842,791
RisEEER 175,705,302 x 24.42% ((22.27% +1.44%) x 1.03) 42,907,234
T=Rfl 160, 181,970 + 58, 430, 566 218, 612, 536
—REEES 218,612,536 x 15.41% (15.41% x 1.00) — 8,172 33,680,019
KRR HE 218,612,536 x 0.04% 87,445
T &l 218,612,536 + 33,680,019 + 87,445 252, 380, 000
HEREELE 252,380,000 x 10.00% 25,238, 000
HATRE 252,380,000 + 25,238, 000 277, 618, 000




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

51
2% FAMBA() HAS~100ke/EREE L 1000m 34 Y
£ L] B - T By H =2 B & % i) i %
A 5~100ke/fE2E (B LIRAREL)
m3 1,250. 00 6, 500. 00 8, 125, 000
KT D 270PSE! 3~5t/A
=] 0.02 190, 104. 00 3,802 8H
AR ESzYOV!
% 0.50 8,128, 802. 00 40, 644
& i {E%8EH : 1,000.00m 3 8,169.00 8, 169, 446
g:2
B FLAMBRA Q) HMAS~100kg/ERRE  KFE10mFKH 1000m 34 Y
£ L] B - T By H =2 B & % i) i %
A 5~100ke/fE2RE (B LIRAREL)
m3 1,250. 00 6, 500. 00 8, 125, 000
KT D 270PSE! 3~5t/A
=] 0.21 190, 104. 00 39, 921 8H
AR ESzYOV!
% 0.50 8,164, 921.00 40, 824
& i {E%8EH : 1,000.00m 3 8,205.00 8, 205, 745
#5:3
%5 JERARIEH (1) HBES5~100kg/EREE FEL 1000m3#HY)
£ L] B - BT By H =2 B & % i) i &
A 5~100ke/fE2E (B LIRAREL)
m3 1,250. 00 6, 500. 00 8, 125, 000
KT D 270PSE! 3~5t/A
=] 0.02 190, 104. 00 3,802 8H
AR 2R 0%
% 0.50 8,128, 802. 00 40, 644
& i {E%8EH : 1,000.00m 3 8,169.00 8, 169, 446




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

Hz5 .4
L ERIRIEH (2)  #AE5~100ke/AFRE  KFE10mKH 1000m 34 Y
2 b g - BIRTE By = BHO(f ® # " =
R 5~100ke/fEFEE (B LI AEL)
m3 ,250. 00 6, 500. 00 8,125, 000
Bk D 270PSE! 3~5tH
B 0.79 190, 104. 00 150, 182 8H
MR EXENOY
% 0.50 8,275,182.00 41,375
& B YEZERES - 1,000.00m 3 8,316.00 8,316, 557
F5 .5
B IR ERR Tm3HyY
2 b g - BIRTE By = BHO(f ® # " =
JERIRAC A E
m3 1.00 312.4 312. 4
& Hi 1E%HEH : 1.00m 3 312.4 312. 4
ES .6
B DAL E—B(TRE) (1) HHNEMRRS-40 EL 1000m 34 Y
2 b g - BIRTE By = BHO(f ® # " =
B ERAS-40 35 (40~30) GBLEERAEL)
m3 ,250. 00 11, 000. 00 13, 750, 000
Bk D 270PSE! 3~5tH
B 0.02 190, 104. 00 3,802 8H
MR EXENOY
% 0.50 13, 753, 802. 00 68, 769
& B YEZERES - 1,000.00m 3 13, 822. 00 13, 822, 571




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

&5 .1
B TJA4NLE—B(TE) (2) HEHPBEAS-40 KFEIOmMEKH 1000m 34 Y
2 b g - BIRTE By = BHO(f ® # " =
B ERAS-40 35 (40~30) GBLEERAEL)
m3 ,250. 00 11, 000. 00 13, 750, 000
Bkt D 270PSE! 3~5tH
B 1.65 190, 104. 00 313,671 8H
MR EXENOY
% 0.50 14,063, 671. 00 70, 318
& B YEZERES - 1,000.00m 3 14,133. 00 14,133, 989
5.8
B T4 LA —E (TR &k Tm3%Y
2 b g - BIRTE By = BHO(f ® # " =
T4 L3 —E(TE) &k
m3 1.00 202. 1 202. 1
& Hi 1E%HEH : 1.00m 3 202. 1 202. 1
5.9
B J4LE—B (LR () BEYSYPv—FRC-30 EL 1000m 3 H Y
2 b g - BIRTE By = BHO(f ® # " =
BEYS5%—5RCOGEEHZ/AEL) 30~0mm GE_EIRAEL)
m3 ,250. 00 10, 500. 00 13, 125, 000
Bkt D 270PSE! 3~5tH
B 0.07 190, 104. 00 13,307 8H
MR EXENOY
% 0.50 13, 138, 307. 00 65, 691
& B YEZERES - 1,000.00m 3 13, 203. 00 13, 203, 998




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

&5 :10
B JALE—B (LR 2 BEYS5vPv—F5RC-30 KFEIOmEKH 1000m 34 Y
2 b g - BIRTE By = BHO(f ® W = " =
BEYS5%—5RCOGEEHZ/AEL) 30~0mm GE_EIRAEL)
m3 ,250. 00 10, 500. 00 13, 125, 000
Bkt D 270PSE! 3~5tH
B 2.43 190, 104. 00 461, 952 8H
MR EXENOY
% 0.50 13, 586, 952. 00 67,934
& B YEZERES - 1,000.00m 3 13, 654. 00 13, 654, 886
&5 11
£ T4 LR —B (L[E) Eff Im3%Y
2 b g - BIRTE By = BHO(f ® % W E " =
T4 L3 —E (L) Ek
m3 1.00 202. 1 202. 1
& Hi 1E%HEH : 1.00m 3 202. 1 202. 1
&5 :12
B T4V E—RB(ERHBL =*x20cm BEY S5 v +—F RC-30 [E L 100m2%4Y
2 b g - BIRTE By = BHO(f ® W E " =
Ny IR (B A X5 RE) 1L1F%0. 8m3 (F350. 6m3)
B 1.20 69, 443. 00 83,331/5.80H / 8H
LEEXS
A 15.40 20, 700. 00 318, 780
MR 2E0%
% 0.50 402,111.00 2,010
& H fEZ8EH : 100. 00m 2 4,041.00 404, 121




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

&5 :13
M T4 —B(ERBHL +20cm BEY 5 v v¥—5 URC-30 K 1B&HY (1Tm2)
2 b g - BIRTE By = BHO(f ® # " =
Bkt D 270PSE! 3~5tH
B 1.00 190, 104. 00 190, 104 8H
MR EXENOY
% 0.50 190, 104. 00 950
& B 1E%HESN - 17.00m 2 11, 238. 00 191, 054
&5 :14
B J4NLF—B(EBHL =+20cm BEY 5 v ¥ —F URC-30 KFEI0mRKH 1BHY (24.3m2)
2 b g - BIRTE By = BHO(f ® # " =
Bkt D 270PSE! 3~5tH
B 1.00 190, 104. 00 190, 104 8H
MR ELNOY
% 0.50 190, 104. 00 950
& B 1E%RES : 24.30m 2 7,862.00 191, 054
&5 :15
B B — rOEER () L 1B&HY (516m2)
2 b g - BIRTE By = BHO(f ® # " =
BrEb S — b R T RTFILVE TR H
m2 568. 00 1,810.00 1,028, 080
BHHD S — b ELER EMGBEEET - Y L—kE)
m2 516. 00 1, 648. 00 850, 368
& Hi YEZERES : 516.00m 2 3, 640. 00 1,878, 448
&5 :16
& PR — FOBRER (2)  KIR10mEKH 1B&HY (516m2)
2 b g - BIRTE By = BHoO(f ® # " =
BrEb S — b R TR TFILVE TR H
m2 568. 00 1,810.00 1,028, 080
BHHD S — b ERER EMGBEEET - Y L—3kE)
m2 516. 00 1, 648. 00 850, 368
& Hi YEZERES : 516.00m 2 3, 640.00 1,878, 448




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

=17
£ BEHMIEAD #A5~100kg/EFEE L 1000m 3 H Y
2 b g - BIRTE By = B 4 ) # " =
R 5~100ke/fEFEE (B LI AEL)
m3 ,250. 00 6, 500. 00 8,125, 000
& B 1EZ%HEH : 1,000.00m 3 8,125.00 8, 125, 000
=5 :18
B BEHIRAQ #A5~100kg/EFEE ML 1000m 3 H Y
2 b g - BIRTE By = B 4 ) # " =
¥R 5~100ke/fEEE (B LI AEL)
m3 ,250. 00 6, 500. 00 8, 125, 000
& B 1EZ%HEH : 1,000.00m 3 8,125.00 8, 125, 000
&5 19
£ . BIEMERR Tm3%KY
2 b g - BIRTE By = B 4 ] # " =
HIBMIER
m3 1.00 312.4 312. 4
& Hi 1E%HEH : 1.00m 3 312.4 312.4
E5:2
£ BEVERIEL EFHEEY BEET 10m3HyY
2 b g - BIRTE By = B 4 ] # " =
EHEEY [FROH] B BHET S8
m3 10. 00 8, 520.00 85, 200
& Hi 1E%HESH - 10.00m 3 8, 520.00 85, 200




Rifiz -/ \v7r—o

RFCEE ) NEFEEMX)FE(-12mBALSE

&5 : 21
&% EEBRERE Tm3%Y
£ b g - BIRTE By = B O ® # " =
EBRREEE
m3 1.00 344. 1 344. 1
& Hi S .00m 3 3441 344. 1
5 :22
%5 fiEHEl Tm3%Y
£ b g - BIRTE By = B O ® # " =
iR El
m3 1.00 344. 1 344. 1
& H EZ%8EH - 1.00m 3 3441 344. 1
&5 :23
2% EBRL Tm3%Y
£ b g - BIRTE By = B O ® # " =
HRL
m3 1.00 536. 2 536. 2
& B 1E%HEH : 1.00m 3 536. 2 536. 2
E5:24
B o o )— rHTEWR Tm3%Y
£ b g - BIRTE By = B Ol ® # " =
a9 )— bHZEW
m3 1.00 1, 950 1,950
& Hi 1E%HEH : 1.00m 3 1, 950 1,950




REAR-ET/Avr—> A6 )| (R R) 2 B (-1 2m) A TE

&5 .2
2% WNE EHEED 100m3 %Y
2 b g - BIRTE BT o = BHO(f ® W = " =
nne EEREEY
m3 100. 000 2,760.00 276, 000
& B YEZERES : 100.00m 3 2,760.00 276, 000
&S .26
&% HiTEEE EREPRAT1IS 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
HREIMAE
= 1.00 120, 000. 00 120, 000
& Hi 1E%HeH - 1.00K 120, 000. 00 120, 000




